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Bho T—8 oM ONIEMMOED, t HAOEHBICALZPEPERFATT LI LICL ST, 20O
FAEEEAHNET20WtRETH DI LIREN 5,
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2, Y3ab—va YEIHIGE, ETVOTA APREFIEREVITIEHE LWES R 55, BEROY
AXBREL DL, BRI ZD/NESTHRBMEDNFRZDDLE R D, 55 LEEROF 4 X251007% 5,
BARDY A ZANR3THoThH, TOMAEDLEIR (C;=161700 L 2D, I 05 2HMOERE EOHT LT
M, ZOMAE DL 161700Ce E2 D, RO T — & MBI L 21 F S % 5% B b BHEROY 4 X%
506 LCh, 2EVT—F MBS % SV ZRIE—BICHV S ITw 5 PC LB DR
ZHRZ TS, TH%DE, XAEY=DPARLEEY, WHIZREMPLEE o720 LTEHMEIIRITSZ
LWl b RELT— OWMIESHO CPU DS EZ R/ 2T NE LS v, T2 TR, —HICERLTW
%5 PCTOMBMORA L bNG, A4 X28OREMEZREL, ZIh6H M X3 OEAZ ESMAGDE
25Cy=3276 ZAEH L, T ORARD SE LN L EIEDO TS 2 %R, ZOMAEDED 53,,C, = 5364450 38

DIZOVWTHETEZLICT b, ARROTHZFTATIE, TOLIBRKRELIAZDOF—THHHIETES
£, TV BERTERIAZEETLILICL > THRTAZEDNTELIHEEFE-72bDE T
Who

Excel Z FIH LT, [ND28] & 4 b7z — b RiC, FEHEEHGA L LCalids - 250 52510h7 55
FKOHD28H 5 7% H ERG A KT %o Table 1 IR L7z X912 D2 WMIZ-25% AJj§ 5%, &KIZ, D3t

IZBI%k [=D2+05] # AL, ZOMEA2512%5DI2EVETRI Yy Z LYY —2AF 5, ThiZXD,
=25 B05DAT v T T25E TORINEHRL I ENTE S,

WIS, COBHNEMHERERLE LT, TNENOMEICHIST HHEREERE L RO 5, HaltBETH %
NORMIDIST %% FIf 4 %, Z#4id, NORMDIST (X, Py, #E#EMmEZE, BEEN) LwiRERNTHWS
N2bo XIIHERFEMENARAT 252 L L, FHEK0 2 ERH O %, R RD 5 ERS
DR IR ET 5o BEIE13 TRUE & FALSE OBllidts %, TRUE O 13 BREMER % K0,
FALSE D& X ICHIBT 2R ERD D Z L1k b, I TIIMERIEBRGS i Z V50T, FH30, £
HRAEZ 1 LT 50 D22 H 5 DI2 vV ISHIG T 2 BEHE EBfE & 5K % 0 ¢ NORMDIST(D2,0,1,FALSE)
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Table 1 lZRENTWVA X HIZ, A —250 52512072 B EHEOEAEE 7 5 LB 2 EK T B 72012
FAEHAL % 14653 % E2 12 [ =ROUND(NORMDIST(D2,0,1,FALSE)*14,0) ] % AJ1§ %

ROUND B3R 2 M7 CIE A L2 Bfli2 Ko 2 b D TH B, ZHhid ROUND Bfl, k) w9
B THwHN B, 2Tk, NORMDIST(D2,0,1,FALSE)*14 % P57 A L CHEEMi L § 5, ThTH X1l
T BB RDOEND Z LIk D, TNE T T 7I2ED LD, Figure 1 Th b,

Table 1 ® D FIZ/R S N7 Bl X SRS L, Eﬂ:%éﬂtﬁﬁﬁ%wxﬁﬁﬁné@ﬁf&éﬁﬁ
ZRLTWD, EEGATFED Figure 1 IRENT WA, & 21E, —250 MBMEIZ 0 10, —2.01% 1 [,
- 1.51& 2 Il —113@&&?%50;hE%TwMZLm?lO_%ﬁtbtofﬁﬁ?éo::TMQO
EHLELTHEDORHVWDDIZIEL L o TWnbh, TOMAEDLEERDLIFIC, 1 ~280LVFE 5D ED
3OPRIIN D NIEFHRLZLE LTHMEOBKIZES CRIEN D L), FHEHLE LNV 24 TD

B OIS ENDL T L5, TNICED, ROZIEBNEFNZHEL I ENTE S, BADESR
TR Y v 7 R LA, PRI —EEN S TN REAE I SNLA, 2T
FERMCY YT V7R LT, AT A ZDF =52 ATT50TIE AL, BEARY A4 X T LIRS
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TN TR ERRRE Lz L7zAto T, Table 1 D EEEMG T2 B B BEMAL —2.000 X 5 \ZHHEEAS
1 OEREPEREY > 7)) v 73 nb 2 eid, BERAE0.00 X 5 (BB 2B H % B3 OB &3 B g
BT TENLIEIEHD YD E L

Table 1 Frequency distribution table. o
Normal Distribution (N=28)

X FREQUENCY DENSITY
0.25
-2.5 0 0.00 E
2.0 1 0.04 % 020
-1.5 2 0.07 A 0.15
-1.0 3 0.11 =
0.5 5 0.18 = 0-10
0.0 6 0.21 § 0.05
0.5 5 0.18 8
0.00
10 3 0.11 = -2.5-2.0-1.5-1.0-0.5 0.0 0.5 1.0 1.5 2.0 2.5
1.5 2 0.07 X
2.0 1 0.04
25 0 0.00 Figure 1 Normal distribution curve.
28
Table 2 Numbers for Table 3 The combination of the Table 4 The relation between cell
sampling data. case of 5 data. numbers and combinations.
A
' 1 2 3
i 1 -20
2| -5 i 2 4 (1,1) (1,2) (1,3)
3 | -5 1 9 5 1 2 3
4 -10
5| -0 1 3 4 (21) (2é2) (2:‘3)
[ (31) (32) (3,3)
8| 08 1 + 5 ] : =
9 | -08 2 3 4
10 | -05 (41) (4,2) (43)
11 | -05 ? 3 5 1 3 F
12 | 00 ? 4 5
13 | 00 (5,1) (5,.2) (5,3)
14 00 3 4 5 1 3 5
15 00
16 | 00 (6,1) (6,2) (6,3)
17 00 1 4 5
18 05
19 | 05 (7.1) (7.2) (7.3)
20 | 05 Z 3 4
21 0s
22 | 05 (8,1) (8,2) (8,3)
23 10 2 3 5
24 | 10
25 | 10 (91) (9,2) (8,3)
26 15 2 4 5
2t (101) | (102) | (103)
28 20 3 4 .
29 |
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Bo 28D F— 5 25 3MMOBER A RIT UL SHRVAS, ZFD720121d 5C4=3276 () DHLAE bR
DT NER LT, 3MOT—7OMAGEbEEZRDL T T 52 LT, Excel iZfif2fH) 517z VBA
(Visual Basic for Applications) I — FZ#FIH 3%, ZZTIkSHOFER L, F—7%%5 L LTHlAGDE
ERODEMBEEZDY LIFHZLICT 5, ROBRETRTOMAAE DL Table 3D L H %5, TDH
AEbEE IHOMTLEEZD L, 123001HF Y, HmD 1 OS5 FTHZ S LHPRDOI0DMD 27553 &
%ho SZTH1IDOMMAS FTHZLLIODMND 3D 4 L %D, 10DMA4ERLETIOMIZSERY, K
B DOLI00DMAT2 L 720, 234k 7 be 1 DALIE5 &% 5 2235552458 % ), fEiE 1 OAL & 10D fLA
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INITED, [28C3]l wa~y FKRy Y227 v 7§52 LI2ED Figure 4 12789 & 9 IZ [Private Sub
CommandButtonl_Click()] & [End Sub] ®» 32— F23FEFEINL T T T L BELZ LN TE S, EHL X
LT BRI E ZOMT OIS 2R TV ES L DOMGEERT & Table 4 DX H 1% 5,

Figure 5 70— % — b & Figure 6 ® 70 25 22— K, Table 5 DR FRIC L 72> TTa s J A

ZHT 5. k, |, m OMAEDLEE IWOBEKE A% L6, 100608 2287 % k 106 2585 % ],
Ifie sy Emel, WMELTKIZL, 1122, mIZ3%2fCAT S, EMVEZRTERELTI, j
RV, HMEE LTREDICIEZAND, T HERTERELTAdEHVSE, SITRT—7 %5
EFh. TV Top: (30 B LIEEDTIHO 012 fib b, Cells@,j) =k X 1,1) ®EViZ1 % ANlb. k
31 ORELRDT, k>Ad-205M4RF1>5-2 LR DRV LAVOTEBT L, ROEV 1,2) ITBEHT 2
0 j=j+1 T2, HAEDJITIHAY, 1+1TEBDIZIE 20 A%, Cells(,)=112& D, (1,2) DEIVIZ
1OMPE 2 HBZSA %0 2FHDj=j+1TlE, HADJIZE2H0AY, EBDjIE3 &% 5, Cells@,j)=miliX
1,3) DENMZm O 3B A%, m=m+1Ti, AAOmMIZIE3INBAY, EZLOmIZds%eb, mD4
FEdD5ED/NEVDT, 102Ld-1043H EXOFEAKI>A-1ICEDZVOTENd If ISR, KROS5
R k>d-2TIF 1 £ 5-22/IET 22 L1105 DTHRANIIHIL v, i=i+1 ;tzﬁtm?@@w:ﬁé
ODORTHY, HLDOIIIFIDBAY, EBDild2E%5b. j=j-23ABDjICE3HNAY, ELDjiX
Le%bd, SHICEY, 1,3 DELRE 2D OEMLEICEEIT S L1275, GoTo Top TF )V Top: I
BEITHZ &5,

O, Top: 12D, Cells@,j) =k id @,1) DEIMIZ1 ZAND, £MHERKk>Ad-2131>3 &40, L LAW
DTNRAER D, j=j+11F2=1+1% %Y, ELOjIF2 L% %, CellsGj) =11 2,2) DEIVIZ1OHBIMED
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FED2N A%, j=j+1 TEADJIZIEINBALDT, Cells@,j)=m i 2,3) EVIiZm=m+1I2XhEoh
f:5ﬁ§)\60
m>diE5>5¢8%40, LUREBZLAVOTEMdEFTHATALI LIRS, KOKEXLOZEMARI>d-1

@A S -3~ = 150130t53%5.xIsm - Excel
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Figure 2 Usage of VBA.

: s Microsoft Visual Basic for Applications - 150224N28.xIsm
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Figure 3 Form of VBA.
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Private Sub CommandButionl _Click() =
End Sub
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Figure 4 Code window of VBA.
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E2>5-1,%5DTHRALLZVOT, TZTOEdEFFTHATEI L% 5, Hid HXDFEMHERKk>d-2
FE1>5-2LR2DTHRILLBEVDOTIOU LD /NATLI LR D, RO 21Ti=i+1&j=j-21Fil23,
JIZ125A %,

3EHIZ Top: 1R D, Cells(,j) =k i Cells@3,1)=1 & 7% 5, k>d-21F1>5-2 1FHVZ L2V DTI/NAE
NDo j=j+1TEADjIZ2 LR, Cells@,j)=11xCells(3,2) =2, %5, A1 2T, Cells(,j) & Cells(3,3)
&, Cells@i,j) =mid Cells(3,3)=5¢ %%, m=m+134HBOMMP5%DT, FBOMIZIE6 A AS. K
DU LFEMFER m>AE6>5 L R VKV TEDOT, 1=1+1E m=1+12%478 N2, 1=1+1IHELD1IC 2
BAY, EBO1E3 LR, m=1+11FHBOINR3HDOT, KEOmIZIE40A%, FAFRI>d-11F
3>5-1 TRV LEWVDT, End If FTRE, FHERXKk>A-2131>5-213K V. L2VwDT, RASND, i
T4 e, LIRS,

4 B HIZ Top: 12D, Cells(,j) =k 1 Cells(4,1) =1 £ 7% 5%, k>d-21F 1>5-2 1FWVZ. L2V DTI/RAE
Nb,jix2&%0, CellsGj) =11% Cells(4,2) =3 &£ 5%, j2°1 3 2T, Cells(i,j) & Cells(4,3) &% D,
Cells(i,j) =m (& Cells(4,3) =4 £ 2%, m=m+11ZHBO M4 %DT, EHEOmMIZIE5B3A%, KD If X

FHEAm>dIF5>5 8 2 )L &ve SFRI>d-11E3>5-1THIZLZAWOT, End If $ THRE, &
RN k>d=2131>5-2 13K LA2WVDT, NRZ2AE8N5, ild5&RD, jiX1ICKS,

5 HIZ Top: 12D, Cells(,j) =k i Cells(5,)) =1 & 7% %, k>d-2 13 1>5-2 1FWIVZ L B2V DTI/NRE
N5b, jid2&7%Y, CellsGj)=11i% Cells(5,2) =3 &£ %%, jA5 132 T, Cells(,j) & Cells(5,3) &% D,
Cells(,j) =m & Cells(5,3) =5 £ %%, m=m+1FABLO M A5%DT, KBEOmIZIE6AA%, KD If X
FEARm>d 1 6>5 TRZT 20T, 1=1+1 L m=1+12FE7 &N 5. =1+ 1LIEHBAD LI 3DAY, /&
WO 4E %5, m=1+13ELD1D45DT, ELOmIZIEZ5205A%. FMHR1>d-1134>5-1Th
V.LBRWVWOT, End If FTRE, £HRNKk>A-2131>5-2 138 . LAVDT, NAEND, ild6LkD,
JIXTICR %,

6 [0 H 12 Top: 12D, Cells(,j) =k 1 Cells(6,)) =1 £ 7% 5%, k>d-21F 1>5-2 1FHIVZ L2V DTI/NRE
N5, jid2&7%0, CellsGj =1 iCells(62) 4 7%, Cells(i,j)=m (& Cells(6,3) =5 &£ %%, m=m+1 %
AHBOm M5 %DOT, LD CW6AAL, ROUXDOFEMAEAM>dIE6>5 &%) THRILTLHDT,
1=1+1 & m=1+1DFETEND. 1=1+1IFABOTICAHAD, ABD1E5 %5, m=1+1 14BN 11I
S52AD, EBOmMIZ6 L %%, FHN1>d-11E5>5-1THILTAHDT, k=k+1&1=k+1& m=1+1
WEATEND. k=k+1IFHBOKDP1 DT, KBOkiF2E%b, I=k+11IFHBDOKN27%DT, il
D1E3E%b. m=1+11FHBDOINIHDOT, EAOmIZ4 L %5, FMHRNk>d-2132>5-213%7 L
BWODT, NAENDL, 11F7ERD, jIE1ITHES,

7 B H 2 Top: 12D, Cells(,j) =k ;\:Cells(?l) =2%7%5b, k>d-2132>5-2 WV LAEVDOT/INAE
N5, jix2&7%0, CellsG,j) =11% Cells(7,2) =3 &£ 7 5, Cells(,j) =m i Cells(7,3) =4 £ 72 %, m=m+11Z
HBROmMAB4 DT, KAOmMIE5 A% KO UEXOFMER m>d I3 5>5 L4 ) TR LAV, &
K1>d-11F3>5-1THVZLZWDT, End If TR FHEAk>d-21E2>5-2 1302 LEVwoT, /¥
AENB, 11d8ERY, jIX1ITKS.

8 HIZ Top: 12D, Cells@i,j) =k 1 Cells(8,1) =2 &£ %2 %0 k>d—21Z2>5-2 13RI L2 WVDTI/IA X
NbH, jid2 720, CellsG,j) =11d Cells(8,2) =3 & 7% %, Cells(i,j) =m & Cells(8,3) =5 7% %, m=m+1 1
ABOmM A5 DT, FAOmMIZIE6BAZe KD EXLDOFEMER m>d X 6>5 L7420 TRLT 5, 1=1+1
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PrivateSub CommandButton1_Click()

!

Definition
klm, ij, d

» Top:

Cells(ij)=k

!

=i

'

Cells(ij)=

'

j=jH

!

Cells(ij)=m

i=i+1,j=-2

[=1+1,m=I+1

l>

k=k+1,I1=k+1,m=k+1

Figure 5 Flowchart for the combination of three numbers.
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Em=1+1 29478 N5, 1=1+13HBO NI 3AAY, KAD11d4 L% b, m=1+113HLD 14 DA
D, EBOmix5E%5, £MHRNI>d-1134>5-1 THRVLAEWVWOT, End If TR &4 k>d-2
E2>5-213RVLAVDT, NASNE, i139E%D, jIX1IZRA,.

9 [ HIZ Top: 125 Y, Cells(,j) =k i Cells(9,1) =2 £ %2 %, k>d—213 2>5-2 13KV LAVDT/RA K
Nb, jld2E7%b, CellsGj) =11 Cells9,2) =4 £ %2 %, Cells(,j) =m & Cells(9,3) =5 £ %2 %, m=m+11&
HBROmMHBE5%DT, EBOmMmIZIZ6 AL, RO ELOFMAR m>dIE6>5 L7400 THRIT S, 1=1+1
Em=1+12FATEND, 1=1+1IEHABD NS4 DAY, EBDO1E5 L% b, m=1+1134HAD 15 DA
D, EBOMIZ6 & %D LR 1>d-1135>5-1THRIT %o k=k+1& 1=k+1& m=1+12%ETEh
5o k=k+13HLO KD 2%DT, EBOKIZ3 %%, I=k+113HBO KA 3%DT, EBDO1IZ4 L
%ho m=1+13AED 1A 4%5DOT, EBOmMIF5 E%b, £MRNk>d-2133>5-2 L2 )KL AW
DT, NRAEND, 1131042, jIF1ITKE A,

1018 H {2 Top: IR 1, Cells(,j) =k ¥ Cells(10,1) =3 & 7% %, k>d—-21F 3>5-213 I L RWVDT/SAE
5o jlx2 &R0, CellsG,j) =11 Cells(10,2) =4 & 72 %, Cells(,j) =m & Cells(10,3) =5 &£ %2 %5, m=m+11Z
FBROmM A5 %DT, EBOmMIZIZ6 DAL, KOUELDOFEMHER m>dIZ6>5 &%) THRILYT 5, 1=1+1
Em=1+1 5T END. =1+ 1 REABDONTAHAY, EBD1E5 L %%, m=1+11FHBD 15 HA
0, EBOmMIE6EL%5%,

ZMHR1>d-11E5>5-1 THIVLT 5. k=k+1 & 1=k+1 & m=1+12"FE7EN %, k=k+1 13HLDk
M3BOT, KBOkIF4EHD, 1=k+13ABO kA4 %DT, ABD1IE5 E%R D, m=1+1134LD
1235 %DT, EBOmMIZ6L%s, £MHXk>d-2134>5-2 LR KVT5DT, FN)V Follow: (2R E)
T 5. MsgBox (MTLET) B7UT7ITAPRRKET LEVEIINL [HTLET] Lwvwirvt—Y
ERHOAYE—Y c Ky 7 A%FRT 5,

I— FOMENRZ T L 707 I LRGN T Lz bIE, TH%) #21) v 2 L [Visual Basic] TV —v
N=IZHLFEATRY Y b 2 ) v 7 5IUL 1 22528F TOHDNLEIINT 3 2OHTOMAELEHFR
SN, 72720, FEFICUoTE, dDEZSHRBICEE L TBLLESD S,

FATORR, [28C3] 4T ohizy— o LATHD [12 3] »5327647H® [26 27 28] T 3 Ko#l
HEDEDERENS, Table 6 [ZFEATHIRDO T2 FERT 5. [28C3] ¥ — b+ Lo A%, BHI, CHIOKT
KIS % [ND28] o — k D%filiA Table 2 ® AFIOMER HRIEN D Z L1274 b, 728 213, Table 6 D 1
fTHO 1, 2, 312363 2% Table 2 (IND28) ¥— 1) ®—-20 (A1), —-15 (A2), —-15 (A3) [ZZhZ
NEHE LTH D, Table 6 ®32764T H D26, 27, 281315 (A26), 1.5 (A27), 2.0 (A28) IIHIBLTWw5, %
D728 [28C3] ¥— b+ A5 [ND28] ¥ — OB IVHAEEZZIMTELZHRTABL TR S R TEE S %,
[28C3] ¥—FDE 1tV IZB% [="ND28IA” & A1) # A3 %, "ND28IA” & Al id [ND28) ¥— L+
AFIDOLN DS ALITRENTZHEDITONEZ RN T I L 2EKL TWb, A%, E1ONAEEZ GL T
I¥—F %, KIZIIZB% [ =INDIRECT(E1) ] % AJ1§ %, INDIRECT( i& () PIIRE NV ONEE
%S 5 2 & %MWY 5. INDIRECT(EL) (3 E1 /R S N7z [ND28IALl ONAETH 5 -20% 7T LI
%he NOWEZNILKLICIE—F5%, TO%, E155 KL% [262729] OMAGDLENFRIATY
5327617 TAY—F5h, TTETOFHEXT, Table 1 TRENTZ —250 5251272 5 EHOEKA28H 5
B EBAAI 5 T — 5 HHT 3 DMAEDEIRONIZZ LIZR D,

Table 6 (7R L7z & 9512, 15, JH], KINIIRENT: 3 DORBARDFEE %KD L, L1 LIV ERD S 72
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Private Sub CommandButton1_Click()
Dim k, I, m As Long
Dim i, j As Long
Dim d As Long
k=1:1=22m=3

d=5 'd T—4%

Top:
Cells(i, j) = k
J=i+1
Cells(i, j) = |
J=it
Cells(i,j) = m
m=m+ 1
If m> d Then

I=1+1
m=1+1

End If

If1>d-1Then
k=k+1
I=k+1
m=1+1

End If

Ifk > d—-2 Then GoTo Follow
i=i+1

j=i-2

GoTo Top

Follow:

MsgBox (“#8TLET, ")
End

End Sub

Figure 6 Code for the combination of three numbers.
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m

DD s W -

3265
3266
3267
3268 |
3269
3270
3271
3272
3273
3274
3275
3276|
3277

T

23
23
24
24
24
24
24
24
25
25
25
26

WVATH e

ANED
2 Tilf

% OE5154 145)

Table 5 The processing of the program for 5C3.

k 1 1 1 1 1 1 2 2 2 3
| 2 2 2 3 3 4 3 3 4 4
m 3 4 5 4 5 4 4 5 5 5
i 1 2 3 4 5 6 7 g ] 10
j 1 1 1 1 1 1 1 1 1 1
Top 1st 2nd Brd ath Sth 6th 7th Sth Sth 10th
Celis(ij=k  (1,1)=1  (21=1 @)=1 | @1)=1 (B1=1 G)=1 (F1=2 @1=2 (©1)=2 (10,1)=3
k:d-2 1:5-2 | 1:5-2 | 1:5-2 | 1:5-2 | 1:5-2 | 1:5-2 | 2:5-2 | 2:5-2 @ 2:5-2 | 3:5-2
=M 25141 25141 25141 25141 25141 25141 25141 25141 25141 2214
Celis(ij=l | (1.2)=2 (222 (32)=2 | (42)=3 (52=3 (624 (7.2)=3 (823 (9.2)=4 (10,2)=4
j= 3=0+41 | 3=241 3241 | 3=241 | 3=241  3=041 | 3=041  3=041  3=041  3=241
Celis(ij)=m  (1,3)=3  (23}=4 (33)=5 | (43)=4 (53)=5 (6305 (7.3)=4 (83)5 (93)=5 (10,35
= 4=3+1  5=4+41 6541  5=441  6=5+1  6=5+1  5=4+41  6=5+1  6=5+1  6=5+1
mid 4:5 5:5 6:5 5:5 6:5 6:5 5:5 6:5 6:5 6:5
> b X Q X (@] O X O @] O

* 1= [+ l 1 3=0+1 i 4=3+1  5=441 l 4=3+1  5=4+1 5=4+1
* m = 1 1 4=3+1 1 5=4+1  6=5+1 1 S5=4+1 | 6=5+1 | 6=5+1
1:dH 2:5-1 | 2:5-1 | 3:5-1 | 3:5-1 | 4:5-1 | 5:5-1 | 4:5-1 | 4:5-1 | 5:5-1 | 5:5-1
> X X % X X O X X (o] o

* k =kt 1 5 1 1 1 2=141 1 1 =241 4=341
* | = ket l 1 1 ! l 3=2+1 1 1 4=3+1  5=4+1
*m= 1 1 1 ! 1 4=341 1 1 5=441 62541
k :d-2 1:5-2 | 1:5-2 | 1:5-2 | 1:5~2 | 1:5-2 | 1:5-2 | 2:5-2 | 2:5-2 | 8:5-2 | 4:5-2
> X X X X X X X X X O
=it 25141 3=241  4=341 | 5=441 6541 T=641  8=7+1  0=8+1  10=041
j= 2 1=3-2  1=3-2  1=3-2 1=3-2  1=3-2 1=3-2 1=3-2 1=3-2 1=3-2

Note) * :conditional, d=5, O:approve, X: disapprove

Table 6 Example of combination 3 numbers from 28 numbers. (28C3 sheet) (1/2)

X

B o]

DR R R R R R R R R R

Je |l =" np2ga” & a1

W~ s W

1
12
13
14

aE

o | | F
ND28iAl_IND28iA2

ND28!A1
ND28!A1
ND281A
ND28'A1
ND28A1
ND281A1
ND28!A1
ND28A1
ND28!A1
ND281A1
ND28A1

RIPAO A4

ND28!AZ
ND28!AZ
ND28!AZ
ND28!AZ
ND28!AZ
ND28! A2
ND28!AZ
NDZ8!AZ
ND28!AZ
ND28!AZ
NDZ8!AZ

RIFWIO! A

G

|ND28!A3

ND28'A4
ND28'AS
NDZB!AG
ND28'AT
ND2B1AS
ND28'A9
NDZ8'A10
ND281AT 1
ND231A1 2
ND28'A13
ND2B!IA1 4

RIMA0 A4 E

=2
=2
-2
e
-2
=2
-2
=2
-2
-2
=2

—n

-15
-15
-15
-15
-15
-15
=15
-15
-15
-15
-15
-15

AaE

-15
-

i
-05
-05
-05
-05
-05

2000

Table 6 Example of combination 3 numbers from 28 numbers. (28C3 sheet) (2/2)

26
27
25
25
25
26
26
27
26
26
27
27

nD28 | 28c3 |

28 ND281A23
28 ND281A23
26 ND28!A24
27 ND281AZ4
28 ND28tA24
27 ND28!A24
28 ND281AZ4
28 ND281A24
27 ND28!A25
28 ND28!A25
28 ND28!A25
28 ND28!A26
3276C2 | @

ND28!AZE
ND28!A2T
ND28!A25
ND28!AZS
ND28!A25
ND28!A26
ND28!AZE
ND28!A27
ND28!A26
ND28!AZE
ND28!A27
ND28!A2T

ND28!AZ8
ND28! A28
ND28!AZ26
ND281AZT
ND28!A28
ND28!A2T
ND28!AZ8
ND28!A28
ND28!A2T
ND28!AZ8
ND28!A28
ND28!AZE

1
1
1
1
1
1
1
1
1
1
1
5

1

15
15

1

1

1
15
15
15
15
15
15
15

L
-1.66667
-15
-5
-15
-1.33333
-1.33333
-1.33333
-1.33333
-1.33333
-1.16667
-1.16667
116667

—4 1aaaT

15
15
1166667
1166667
1.333333
1.333333
15
15
1.333333
15

M

1
| 1.666 66?1

.



A HIFED 7DD Excel 12X B I 2L —3 3 v (MHEKRED) 225

% ® AVERAGE B$% I\ T [ = AVERAGE(ILK1) | & AN L7, 13276 LV ETa¥—F5, ZHITED
LNZ 3 DDEEADFI 2 KD D Z ENTE Do TOPIHDIRT A S HHED 2 Dt 5 D—FE o T,

DA ORET % BB 720, EBGAZRD B OO TH S FREQUENCY Bz 5. BG4 D
Rk AT 2720, N22MIZ [-25] E AN L7728, N3 EVICiE [=N2+0.5] E AL, E0#kNI12
FTRIVZLTYY—AFH, TRT-2505+25F TOERKDOBHAER SN B, wIZ, L1 55 13276
T O 2145 72912 02 £)VIZ [ =FREQUENCY (L1:L3276,N2:N12) | # A9 %, FREQUENCY ¥
¥x [FREQUENCY Bi% ChPR#EPH, BEROXY)Y &2 2%8fi) | Ly B THWSN S, 02 VIZATIL
7otk 02N 5 0128 VE 7+ —H A LTIRETY = WN—OBBATIME 7Y v 7 LT, $#PEEOX
FAS, RGP AT D TR AR 7 5 TV B RIS Ctrl + Shift + Enter & 3 20 % — &[T, 32
£ 02tNh5 012 LV OEEA [{=FREQUENCY(L1:L3276,N2:N12)} | &7 0, KBEMIHIS L 72 s
FIREND (Table 73M8). O14 ITIFLERZ KD B 720 [ = SUM(02:012) ] BANSNT VD, D5
DT HERT B720, 02V Hh 50128 VETE T4 —HALZRET Al s 70 [757] 7Y
YOS [T T TOWMALl Ky v ar) v 735,

Bl O FOR % WA 02:012 \IZEH T 728, 79 7O ~ViEE 7)) v 735, £35L, Figure 70

Table 7 Example of means of 3 numbers
and frequencies table of means.

X FREQUENCY DENSITY
-2.5 0 0.00
-2.0 0 0.00
-1.5 7 0.00
-1.0 129 0.04
-0.5 589 0.18

0.0 1113 0.34

0.5 981 0.30

1.0 396 0.12

1.5 60 0.02

2.0 1 0.00

2.5 0 0.00
3276

557 F-5ORE(D): | ='26C3'15052:50512 E‘
gz' @ﬁmwm|ﬂ

ROME RN 0 (AE) #54(C)

10i8m(a) | G WG || XMBE) + ~ | | GRS |

> ® M 1 A~
> 3 HSLORE(A):
" |='28C3'15N$2:5N$12] & --25,-20, ..
¥ 5 v

; . : oK >

[smzsrvzaom) | [k ][ #me l | | #etn

Figure 7 The choice of data source. Figure 8 Change of Axis label.
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t Distribution (df=2)

0.40
S 03
Z 0.30
2025
>
£ 020
4 0.15
=
2 0.10
g 0.05
£ 0.00
25 20 ‘15 -10 05 00 0.5 10 15 20 25

X

Figure 9 Example of t-distribution.

9% [F=%v—20®R] BEREND, Zoho [H# GHH) #s~v] o [HEl 220y 235
& Figure 8 D & ) \ZHl T NV OFPAIENTEL L)% D, ST TN2NI2Z DY A b & BAUTH O R
MWEHETE 2, ZORER S N5 KA Figure 9 (R ENIZt 5 A TH b0 TOHH, 3ODEENILLD
BEARDYHZRY FIFTwa0T, HHEIZ2 %5,

3. BRFHOEDD

SFECoBMT, [1. BHEERMOVER] Ot TR L - T, EBiT 2 2808l
S E N7z 3 D DD I 5Ca= 3276 Tz SN S DO THRELMABDREDGH b t 47
LT DIEERT e TOMAEDEIL 3976C, = 536445018 d 5o Excel D7 —2 ¥ — b I A10485764T X
1638451 DT, WKITEFHLTD, PR ED6FIIRRI LA D, ZNWi, —EOERTHI LI
WEEZTERRTALEZ LRTNE R LRV, 22 TIX, Yurssra—FVzHHozoop & LT,
5HDTF— 5 30% BRI LICL o TSN Co= 100 AEDEDHRS 2 0% BASEXIY LI
%o 10EDOHAL 2 0% BOHAGDEIL (C,=45 0 H D, TNEIVTTEICERT L HLEEHNT 5,
I—FouTy 73T BEFRITRERZTH T 572K ML TH 5,

Figure 10 ® 7@ —F % — I & Figure 11 ® 3 — K& Table 10 O EAEEKE b L IH T 5, EITHR
% Table 812, EILFGF L LILDOHEL DORFRE Table 9 127K,

Tar 55— FiE, FTEROEKRTHT S, kK 1E0,j&d viEE#EMNlong & LTERIN TV,
W, BROLEKIE Integer & LTEREN D, SHIEAEY —H A XA 2byte T (28)2=65536& 7% 1)
= 32768~ 32767DFEPH DI L WA evve TR HH/BI L TH T HIZOFPHEZ B TWBDT,
A =4 XHT4byte T 2915429k 2 Y, £21KBR A HPHOBEH W) ZLDTEL L IICT ST
O FROFEBE REB LT 5, k L 1IEHROMERL, i L jidZnZhok & 15#H) B TENLELVD
T RLAZRLT WA, A3k =7 ERL, ZZTIEI0E T %, vIZFERTBITHERL, I TIE10
LLTwa,

ZEREFROD L, Top: ZilM L, MIMIZ L7225 T Cells@,1) 2F 0 Al £ VI k OO 1 SA %, K
ABITEBZ TN E) e EL, FIE]Z 1 20 L TROFNIERTESL LHITT S,
Cells(1,2) 2F ) Bl VI I OMIME 2 25A %0 1% 18R L7z, 1& 7= B d 2L, 3L10% HiKT
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Table 8 Example of means of 2 numbers.

I_.__":A_EICDE_F_GH]_J_KLM_NOPOH_STUV_WX\‘_Z_MAEI
1 | 1 2 2 4 3 7 5 ] 7 )
P 1 3 2 ] 3 8 5 7 7 10
3 | 1 4 2 L] 3 ] 5 8 ] a
4 | 1 5 2 7 ] 10 5 a 8 10
5 | 1 ] 2 8 4 5 5 10 ] 10
Li 1| 1 7 2 8 4 1] (3] 7
| 1 [} 2 10 4 7 [ 8
8 | 1 ] 3 4 4 8 6 ]

9 | 1 10 3 - 4 a 6 10
10| 2 3 3 & 4 10 I 8
11 ]
Table 9 The relation between cell numbers and combination 10C2.
(L (LY (1.7 {1.8) (.13 (114} (119 (1200 (1.25) [{F3]
1 2 2 4 3 7 5 6 7 : ]
(an (22 2n {28) (218 (214) (2.19) (2200 (2.25) (22
1 3 2 5 3 8 5 7 7 10
(3.1 (3.2 (3.7 {3.8) (313 (3.14) (3.19) (3.200 (3.25) (32
1 4 2 L] 3 ] g 8 -] 9
(4.1 (4.2 4.7 (4.8 (4.13) (4.14) (4190 (4,200 (4.25) (4.2
1 5 2 7 3 10 5 9 8 10
5.1 (52 1) (58 (5.13) (5.14) (5.19) (5.20) (5.25) (52)
1 6 2 a 4 5 5 10 9 10
(6.1 (6.2) (6.7 {6.8) (6,15 (5.14) (5,150 (6,200
1 7 2 g 4 4] ] 7
(L0 (1.9 {n (7.8 (713 (714) (719 (7.200
1 8 2 10 4 7 4] 8
(8.1 (8.2 [£:3)] (8.8 (8.13) (8,14) (8.19) (8,200
1 9 3 4 4 8 6 9
(9.1 (9.2 an (9.8 (913 (9.14) (9.19) (9.200
1 10 3 5 4 9 6 10
{101 {102 {107 {108 (10,13 (1o 14) (10.19) (10,20
2 3 3 L] 4 10 7 5]

LIEIBBDT, REFZHPRILTHDT, i=i+1 & 1=j— 112XV, 11212225 1IZZ 1A, kD
ELVOTFLA QD PHEENS, i b vid2 102 ETA2Z LI DT2HHE® Top: ~d £ 5,
Cells2,1) Tabb A2 A1 &40, A2 87455, Cells22) TbbB2EA3 Ehb, 12412LT,
ledxIiEd 25, 4<10%0T, i%3, j#1&LT3EHED Top: ~db &%, Cells@3,1) 12 12% Cells(3,2)
4N ARDL. OB M EZ L, O HIZTop: Zi@# 5 & &, k=1, 1=10, i=9, j=1DIRETE
BT B, Cells9,1) DA LVIZ1 2 AN, Cells9,2) ® B LVIZI0% ANb, ZOWE, 1:dDHEIXIL: 10
&7, If1>d Then XOLEURAIK Y LDOZ L2k b, ZD72, k=k+1 L 1=k+17FETENb, Th
WCEDKIF2, IE3 Ehbd, ZHITRDDHMARDLEN 1,10) 25 2,3) LT HILZERLTWD, =
O, jOMIZ6ABMENDLDIXFRTENEEZL720DHDTH S, 200, 301, 401 H D Top: @i
ORFLFAMTH 5 TTOMIE I Table 10 ISR L7A2EBY TH S,

276D TIMEOE WY ) iy, FI0b22ERBRILIIR D, ZD720, HHko X 9 1253644500
MAEDbEEWDOLINE LSO RV, TNE TR ST ATENTTLYE, 77— 7 8d=3276, FRITEK
v=1000000& § %, FEITHERO—E% Table 11 IR T. 200K FAA, BolE G, HFI, M, N%l, S,
TH, Y, Z¥|, AE, AF%l, ®6HICEREINTWD, TORTFIHIET S [28C3] ¥ — MO LINIIH L%
iz I A, 72& 21E CLEVITIE AL VSN E T 5 5l 1 ISKIE S % Table 6 @ L1 &)V ol
—16667% Y AT 2T NIE % 5 R\, £D7®, Table 11 ® [3276C2) ¥ — F o C1 £ VICHE
[ =INDIRECT("28C3!L" & Al)| # AN ¥ 5, Zhid, iz L7z INDIRECT BT, ZZTix, [28C3]) ¥ —
FOLFNCH B [3276C2] ¥ — F ED AL VIZHBNE, 2F D, [28C3] ¥ — FD L1+t (Table 6) 12
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PrivateSub CommandButton1_Click()

!

Definition
ki, ij, d,v

<&
l

Cells(ij)=k

IA

=+

Cells(ij)=I

k=k+1,I=k+1

i=i+1 =1 v

Follow:

MsgBox

v

End

Figure 10 Code for the combination of three numbers.
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Private Sub CommandButton1_Click()

Dim k, | As Long
Dim i, j As Long
Dim d, v As Long
k=1:1=2
i=1:j=1

d=10 'd 7—5%
v =10"&RRITH

Top:
Cells(i, j) = k
Ifk >d—1Then GoTo Follow
i=i+1
Cells(i, j) = |

I=1+1

If1>d Then
k=k+1
I=k+1

End If

Ifk>d-1Then GoTo Follow
i=i+1

j=i-t

Ifi > v Then
j=j+6
i=1

End If

GoTo Top

Follow:
MsgBox ("#TL%EY, ")
End

End Sub

Figure 11 Code for the combination of three numbers.
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BB —1.66667%BMYT 5 L EERT 5, DI LV IZIZE [ =INDIRECT("28C3!IL” & Bl)] #*A ST
BY, Table 6D L212H D —15%FBMLTWwb, E1 £WIZid [=C1-D1] AN ENTWS, T CHI
EDHIEDMIET BITDEERDBLDTH D, TDCLrHELZE 7 4+ — 7 X L7RETI000000/7H £ T2
¥—942%, BT, I~K¥l, 0~Q¥%l, U~WJ4I, AA~AC¥H], AG~AFWIRAICIE—LTWL, 7
72U AG ~ AF 7751313364450 TH £ TTH B, ZhicE D, EFI, K%, Q% W5, ACHI, AIFIIH A
2 3 DIEAD PR D7EHB364450MH15 5N D Z L1274 b,

K12, FREQUENCY Bi#x VT, IO DR EYOEDO G % BT %, 22 TH, FREQUENCY B
BUIE R % KD BRI D725 TV BDT, R OFNRHEHOIREDHL ) & 3R 25 DIZR 5B,

Table 10 The processing of the program for 10C2. (1/3)

k 1 1 1 1 1 1 1 1 1 2 2 2 2 2 2
| 2 3 a 5 6 7 E 9 10 3 4 5 6 7 e
i 1 2 3 4 5 [} T 8 ] 10 1 2 3 4 s
i 1 1 1 1 1 1 1 1 1 1 7 7 7 7 7
Top: st 2nd 3rd ath Sth 6th Tth Bth Sth 10th  11th  12th  13th 14th  15th
Celis(id=k | (L1=1 (2101 | 3= @0=1 B1=1 | 6= | (0= | @1=1 | Bk (100)=2 (,7)=2 (27)=2 (37)=2 | 47=2  (57F2
k=1 1:10=1 | 1310=1 1310=1 1:10=1 1:10=1  1:10=1 | 1:10=1 | 1310=1 | 1:10=1  2:10=1  2:10=1  2:10-1 | 2:10=1 | 2:10=1  2:10-1
= o (o] (o] o] (8] 0] Q O Q (o] o] o] o] o] Q
j=M 25141 | 25141 25141 25141 2141 23141 | 25141 25141 25141 25141 8=T41 | 8=TH1 | 85741 | B=TH1 | B=TH
Celsifi=l | (122 (223 (3204 (4205 (52)=6 (6207 (728 (820 (0210 (1023 (18)=4 (285 (386 (487 (4908
1= 3=241 | 4341 5=441 63541 7641 B=741 | 9=841  10=041 111041 4=341  5=441 63541 T=641 | B=741 | 9=84H1
I:d 3:M0 | 4310 | 5110 6:10 | 7310 | 8:10 | 9:10 | 10:10 | 11:10 | 4:10 | 5:10 | 6:10 | 7:10 | 8:10 | 9:10
> X X X X X x X X o] X X b % X X
* k= kH 1 1 ] ] ! ! 1 1 2=141 1 ! 1 1 1 1
* | = ke 1 1 1 1 1 1 ] 1 3=2+1 ] 1 1 1 1 1
k=1 1:10-1 1310-1 1310-1 1:10-1  1:10-1 1:10-1 | 1:10-1  1:310-1  2:10-1  2:10-1  2:10-1  2:10-1 | 2:10-1 | 2:10-1  2:10-1
= o o o o o o] o] o o o o o o] o] o
1= 22141 3=241 | 4341 S=441 G541 73641 B=741 | O=B41 102041 11=1041 25141 33241 4=341 | 5=441 | 5=4H1
i=H 1=2-1 | 1=2-1  1=2-1  1=@=1  1=2-1  1=2-1  1=@-1 | 1=2-1  1=2-1  1=@-1 7=8-1 7=8-1 7=8-1 | 7=8-1 7=B-1
v 2110 | 3110 4310 5310 6:110 | 7310 83110 | 9110 | 10110 11:10 2010 | 3110 | 4110 | 5110 6:10
> X 3¢ X X X s X X X o] X % 5 . X
* j= p6 ) 1 1 1 1 1 1 ] ) 7=146 1 1 1 1 1
*1=1 1 ] 1 1 1 1 ] 1 1 i=1 1 i 5 1 1

Mote) * conditional, d=10, v=10, Oapprove, X disapprove

Table 10 The processing of the program for 10C2. (2/3)

k 2 2 3 3 3 ] 3 3 3 4 4 4 4 4 4
I ] 10 4 5 [ 7 ] 9 10 5 [ 7 8 9 10
i L] 7 a 9 10 1 2 3 4 5 6 7 g 9 10
i 7 7 7 7 7 13 13 13 13 13 13 13 13 13 13
Top: 16th 17th 18th 15th 20th 21st 22nd 23rd 24th 25th 26th 27th 28th 20th 30th
Celsliji=k | (8702 (772 (873 (a7=3 (10703 (1,13)0=3 (213)=3 (31303 (313}=3 (51304 (613)=4 (7.13)=4 (813)=4 (9,13)=4 (10,13)=4
kg1 2:10-1 | 2110-1  3:10-1  3:10-1  3:10-1 | 3:110-1 3:10-1 3:10-1  3:10-1  4:10-1 4:10-1  4:10-1 | 4:10-1  4:10-1  4:10-1
i o [0} [0} o o o [} o o o] o o o} [0} o}
=M B=7+1 | B=T41 | B=T+1 | B=T+1 | B=T+1 1451341 1451341 1421341 141341 1451341 141341 1421341 1421341 1451341 1421341
Cels(iji=l | (689 (7810 (B84 (98)=5 (1088 (1,14)=7 (214)=8 (31400 (414)=10 (5,145 (614)=6 (7.14)=7 (814)=8 (8,14)=0 10,14)=10
1= 105041 1121041 5=441 6541 | T=6+1  B=T41 | 9=B+1  10=041 1151041 6541 7641 | 8=T+1 | 9=B41 102941 11=1041
I:d 10:10 11:10 5110 5110 Ti0 8:10 G910 10:10 11:10 §:10 Ti0 8:10 9:10 10:10 11:10
> 3 o] X X X ® * * o] s x X * x o
* k= kH 1 3=2+1 1 1 ! 1 1 1 4=3+1 1 1 1 1 1 5=4+1
* | = kel 1 4=341 1 1 1 1 1 1 52441 1 1 1 1 1 6541
k:d-1 2:10-71 | 3:110-1 | 3:10-1 | 3:10-1 | 3:10-1 | 3:110-1 | 3:110-1 | 3:210-1 | 4:10-1 | 4:210-1 | 4:10-1 | 4110-7 | 4:10-1 | 4110-1 | 5:10-1
= o [0} o o} o] o [0} o o o] o o [0} o o}
= 7641 97+1 | 9841 107041 1121041 22141 | 3=241 | 4=G+1 | 57441 | 67541 | 7=6+41 | B=7+1 | 9=8+1 | 102041 11=1041
i=H 7=8-1 | TE-1 T=B-1 | 7=8-1  7=8-1 135141 13514-1 13=14-1 13514-1 135141 13514-1 13=14-1 13=14-1 13=14-1 13=14-1
itw THO | 8310 9:10 | 10:10 | 1110 | 2390 310 4:10 0 5310 @10 | 70 8110 | 9310 10:10 | 11:10
> *® * ¥ *® (o] X X *® *® *® ® * X *® o]
*j= G 1 1 1 1 13=746 1 ] 1 1 1 1 1 1 1 1e=1346
*i=1 1 1 1 1 i=1 1 1 1 1 1 1 1 1 1 i=1

Note  :conditional, d=10, v=10, Owapprove, X: disapprove
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Figure 12 12# % X 912, AO2 v H 5 AO13 &V IZB% [ =FREQUENCY((E1:E1000000,K1:K1000000,
Q1:Q1000000,W1:W1000000,AC1:AC1000000,AI1:A11000000),AN2:AN13) | % AJJ§ %, BHEOV A% [, ] T
PFRLL, MRHEMHEAEE O THi%. [AN2ANI3] I3RAFE BROXE) &L 258 EHERLTwb, 2D

Table 10 The processing of the program for 10C2. (3/3)

Cells(ij=k (1,19)=5 (219)=5 (3,19)=5 (4,19)=5 (5,19)=5 (6,19)=6 (7,19)=6 (819)=6 (9,19)=6 (10,19)=7 (1,25)=7  (2,25)=7 (3.:25)=8 (4.25)=8 (5.25)=0 (6,25)=10
K : d=1 5:10-1  5:10-1  5:10-1 5:10-1 | 5:10=1  6:10=1  6:10-1  6:10=1 6:10-1 | 7:10=1  7:10=1 | 7:10=1  8:10-1  8:10-1 9:10-1  10:10-1
= (0] o o] (o) o] o] (0] (0] o o (o] Qo 0] O o] X
j=M 20=10+1 2051941 20=19+1 2051941 2051941 | 20=1041 2051041 20=10+1 2051941 2051041 260541 26=0541 26=05+1 26=05+1 26=25+1
Celslij=l  (1.200=6 (2.200=7 (320)=8 (4.20)=0 (5.20)=10 (6.20)=7 (7.20)=8 (@.20)=0 (9.20)=10(10,20)=8 (1.26)=0 (2.26)=10 (3.26)=0 (4.26)=10 (5.26)=11

1= TEEH | BSTH1 | 9=B41 | 10=041 11S1041 ) S=741  BSBH1 105041 111041 95841 10=941  11=1041 105841 1151041 1221141
I:d 7:10 8110 9:10 | 10:10 | 11:10 | 8:10 | 8:10 | 10:10 11310 9:10 | 10:10 | 11:10 | 10:10  11:10  12:10
> *® *® *® X o * *® *® [} *® * (o] X (o] o
* k= ket i 1 1 1 6=5+1 1 1 1 T=641 1 1 8=7T+1 1 9=8+1  10=041
* | = ket 1 1 1 1 =641 1 1 1 8=7+1 1 1 9=841 1 10=041  11=1041
ko d=1 5:10-1  5:10-1  5:10=1 5:10-1 | 6:10=1  6:10=1 | 6:10=1 6:10=1  7:10-1 | 7:10=1  7:10-1 | 8:10=1  8:10-1 8:10-1 10:10=1
a o o o o o o o Q o o o o o] o *
=i 25141 | 3041 | 4=341 | 5=441 | 6541 | T=641 | B=T+1 | 0=B+1  10=041 11=1041 2141 | 3=241 | 4=341  5=4+41 6541
= 19=20-1 19=20-1 19=20-1 19=20-1 19=20-1 19=20-1 19=20-1 19=20-1 19=20-1 19=20-1 25=26-1 25=26-1 25=26-1 25=26-1 25=06-1
v 2:10 | 3310 | 4:10 | 5:10 | 6:10 | 7:10 | 8:10 | 8:10  10:10 | 11:10 | 2:10 | 3:10 | 4:10 | 5:10 | €:10
> * * *® *® * * * * X (o] * * * * *
* = 6 1 1 1 1 1 1 1 1 1 2551946 1 1 1 1 1
*i=1 1 1 1 1 1 1 1 1 1 i=1 1 1 1 1 1

| hote *:a!miltional. d=10, v=10, Oapprove, X disapprove

Table 11 Example of combination 2 numbers from 3276 numbers. (3276C2 sheet) (1/2)

c1 - u =INDIRECT("28C3IL" & A1)
| G | Es | G | H | 1 | o | K 1 L 1 M I M | o | B |
|5 | 1 2| =15 -016667 322 408 0 -083333 0833333 Ga2 1948 =1 =05
s 1 3 -166667 =15 -016667 322 408 0 -083333 0833333 G2 1949 -1 -033333
3 1 4 -166667 =15 -016667 322 410 0 -083333 0833333 G2 1950 -1 -033333
4 1 5 -166667 -133333 -033333 322 411 0 -083333 0833333 G2 1951 -1 -033333
5 1 6 -166667 -133333 -033333 322 412 0 -083333 0833333 G2 19852 -1 -033333
L:} 1 7 -166667 -133333 -033333 322 313 0 -066667 0666667 G2 1953 -1 -033333
7 1 8 166667 -133333 -033333 322 414 0 -066667 0668667 632 1954 -1 -033333
1 9 166667 -133333 -033333 322 415 0 -066667 0668667 682 1955 -1 -016667
1 10 -1 66667 =116667 =08 322 416 0 -066667 0666667 682 1956 -1 =016667
10| 1 11 =166667 =1.16667 -05 322 a7 0 -066667 0666667 682 1957 -1 -016667
o 1 1 12 -1 66667 -1.16667 -05 322 418 1] -05 05 G2 1958 -1 -016667
Bl 1 13 -1 66667 -1.16667 -05 322 419 0 05 05 Ga2 1958 -1 016667
3| 1 14 -1 66667 -1.16667 -05 322 420 0 05 05 Ga2 1960 -1 ]
14 | 1 15 -1 66667 -1.16667 -05 322 421 0 -033333 0333333 Ga2 1961 -1 ]
A8 | 1 16 -1 66667 -1 -066667 322 422 0 -033333 0333333 Ga2 1962 -1 ]
6 | 1 17 -1 66667 -1 -066667 322 423 0 -016667 0166667 Ga2 1963 -1 0166667
a3 1 18 -1 66667 -1 -066667 322 424 (1] “ 1 G2 1964 -1 0166667
e 1 19 -1 66667 -1 -066667 322 425 1] =1 1 Gaz 1965 -1 0333333
8 | 1 20 -1 66667 -1 -066667 322 426 1] =1 1 Ga2 1966 e -05
20 1 21 -166667 -083333 -083333 322 427 (1] “ 1 G2 1967 -1 -033333
2 | 1 22 -166667 -083333 -083333 322 428 1] -1 1 G2 1968 -1 -033333
Table 11 Example of combination 2 numbers from 3276 numbers. (3276C2 sheet) (2/2)
AB1 000000 » (@ | =INDIRECT(" 28C3IL" & 21000000}

0 P Q R sl Joou Jov Joow Lox Joox [z [ a JESEEE s [

S90089 -05 0666667 -116667 1624 2541 -016667 05 -066667 2422 3046 05 1 =05

999090 -05 0833333 -1.33333 1624 2542 -016667 0166667 -033333 2422 3047 05 0666667 -016667

995081 -05 0666667 -116667 1624 2543 -016667 0166667 -033333 2422 3048 05 0833333 -033333

299092 -05 0666667 -116667 1624 2544 -016667 0166667 -033333 2422 3049 05 0833333 -033333

999093 -05 0833333 -1.33333 1624 2545 -016667 0166667 -033333 2422 3050 05 1 =05

950994 -05 0833333 133333 1624 2546 -016667 0333333 -05 2422 3051 05 0833333 -033333

-05 1 -15 1624 2547 -016667 0333333 -05 2422 3052 05 0833333 -033333

=05 0666667 -116667 1624 2548 -016667 0333333 =05 2422 3053 05 1 =05

=05 0833333 -1.33333 1624 2549 -016667 05 -066667 2422 3054 05 1 =05

=05 0833333 -1.33333 1624 2550 -016667 05 -066667 2422 3055 05 1166667 -066667

=05 1 -15 1624 2551 -016667 0666667 -083333 2422 3056 05 =06666T

=05 0833333 -1.33333 1624 2552 -016667 0166667 -033333 2422 3057 0.5% 01 66667
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Jx | {=FREQUENC Y((E1 :E1 000000,K1 :K1000000,Q1 :Q11 000000,W1 W1 000000,AC1 :AC1 000000,AI :Al 000000),AN2 AN 3)}
[ AN B AD ap oA | AR Looas LA oo au L oA | AW
X FREQUENCY .
t Distributin (df=4)

-35 0
-3.0 &1 1800000
-25 3500 1600000
-20 43751 1400000
-15 260671 —
-10 872848 g
-05 1675449 s lm
00 1671820 e
05 701494 = 80000
1.0 126640 400000
15 8094 200000

2.0' 102! ]
-35 -30 -25 -20 -15 -10 -05 00 05 10 15 20

5364450 X

Figure 12 Frequency distribution table and t distribution curve.

i .
-3 -2 -1 0 1 2 3

Figure 13 Probability density curve of t-distribution in
various degree of freedom. (Suzuki, 1977)
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@ Sx)

(b)

x

T+ T L

Figure 14 (a) Two-seded test and (b) One-sided test in t-
distribution. Shaded area is the rejection
region. (Murakami, 2002)
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1) OSid Windows 8.1 C, ¥ 7 M Microsoft Excel 2013 % Jiv>7z. CPU i Intel Core i7 3.10GHzr ¢ RAM %
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Simulation Using Excel for an Understanding of t-Distribution :
For the Derivation of t-Distribution Curves

MONDEN Kotaro '

Abstract : The purpose of this paper is to assist beginners in understanding intuitively both the process of
making t-distribution curve and principle of t-test using Excel simulations.

First, A way to create a population of canonical normal distribution is described. Then every mean of
samples consisting of 3 elements is calculated. The t-distribution curve of the difference among the means is
obtained. The distribution curve of the difference among the means is obtained using frequency function in
Excel.

A t-test is based on the fact that the difference between the mean values of two groups taken from the
same population which has a normal distribution. The t-test showed the difference of the average value in

question to be statistically meaningful or not.

Keywords : Excel, simulation, t-distribution, canonical normal distribution, NORMDIST Function,
FREQUENCY Function, INDIRECT Function

i Professor, Faculty of Social Sciences, Ritsumeikan University
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